F21EHTESMMOBVAET=AXE BFFEI—THER

Fr28510A16H (B) XM
BF ATJAOvY BF E7AvY
(A1) (C—1)

75&1—7& mﬂim §_j.,m 94:>‘y g 'fﬁ—gful It 7_]77x ;_18% ..]”Qn x,_zim B | 2| M

0;6 1)—(6 0;6 0 1 4 71:1977;{2 6—1 1)—(6 2)—(6 1 9 3

d:ﬂliJiTC 60 ' 1103 o X 5)_(6 1;(6 O|17]4
Y 3|1s| 1 oo Nl ol 3] ] |
wa? 2|14 2 “£56L61 2[1s] 2

BF¥ BJ7AOvY BF FJAawvsy
(A—2) (C—2)
5 0 7 8 - 21| 21 28] X4 _—

avYLX L | wk-ssnm] TYHRY X 0 B 47— L g 52 ;ijil‘ MMRL S|F—amR 0 % 45— L3 =LA

0—6|2—-6 6—-016-0

VLT X X 0 2 3 Q 12 1
6 5—6

nx-msia] Q X 11 2 HMRL S 6 2
1 6 — 23

x| O 1211 F— LR 5|3
8 24
0 0

BF Cc7ovy BF¥ Gc7avYy

(A—3) (C—3)

9 0 T1 2 75 70 27 78
28— 2r2] kE-FM] FPALHTT 0 ﬁ& '7’?33&' "IEE—L S— & Z M = hita] oz =23 0 ﬁﬁ lf?fﬁ "EﬁLL
6—0]6—1 6-2]16—3
RE—4 X2 O O 2 1 2 1 =K R O O 2 1 2 1
0 |[0—6 0—6 26 [2—6 3—6
K- x x 0 0 3 = hitaa x x 0 5 3
1 [1-6]6-0 2] |3—-6[6-—3
searst| X O 1 7 2 szzoza| X O 1 9 2
12 28
0 0
B¥ DJAvY) B¥ Gc7Aav%
(A—4) (C—4)
3 12 ™ 16 20 ] 30 ] of 32

n#

savalrsr—=ilar2aE] 0 i3 /f_M&l [=Aivd
6—3[6—0
O 2112 1

6— 1

i
sRR-Ama] EE-meaEl s YL X 0 B 47— L3 I 5z
4—6]16—0

O 1110

6—1
12

7ov—-z1] XK
15 Jo—6
sfEhE|l X




